5B – Communications – Lesson 01
Digital Download & File Storage – Size Prefixes.
Name: _________________
1) Draw a line from the prefix to its value.
Prefix







Value

Tetra
●
●
1015

Mega
●
●
103

Peta
●
●
109

Giga
●
●
106

Kilo
●
●
1012
2) One Gigabyte equals 1,000 ________bytes.
3) One Terabyte equals 1,000 ________bytes.

4) One Terabyte equals 1,000,000 ______bytes.

5) 1000 kilobytes equals one ______byte.

6) 1,000,000 bytes equals one _____byte.
7) Which is best?  A 0.5 terabyte drive or 760 gigabyte drive?
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